1 ERATRY
(1) R4 16 & EARBE (90T

EEBATRY (H—2HILT R +NI5) #4345 B 48 % O T ERER

(2) 1 J1 EE AR B RS (8650 FIT)

EEBATRY (H—CHILT R +NI5) #4345 B 48 % O T ERER

(3) E D b - HERZIATH (41950 F7)

EEBATRY (H—CHILT R +NI5) #4345 B 48 % O T ERER

SM2510A28RE
FEERFEIOF 1)L RERRAE RAK

TRVEDHERICRIIRRICTONT

(M) SBRDBATE
K5 w # FEA "
RERE[HS—2HIL<TRY *K%E |1,000,000 #%
& £ 1,000,000 #
(5) ERMEAF ~ DR
=3 7 Y—ThILIRY N95TRY (3%) = &t
EiR 4t 14,384,000 # 746,000 #% 15,130,000 #
FhER 1,000,000 #* 55,000 #% 1,055,000 #%
% RAEHR# 468,530 % 100,936 #* 569,466 #*
g BEA 1,944,000 # 120,000 # 2,064,000 %
EmELEES R 1,000 #% 1,000 #%
& &t 17,797,530 # 1,021,936 #& 18,819,466 #
BT E EREE 1,415,000 # 153,090 # 1,568,090 #
REE - EANESVE. 19 ERES 2,715,200 % 193,090 #% 2,908,290 #*
Z DR AR EATE 4,874,596 % 70,790 # 4,945,386 %
B fRE & 1,007,100 # 4,140 #® 1,011,240 #%
REMS 454,000 #% 0 & 454,000 #%
R ERS 241,000 #% 0 % 241,000 #*
g; REHEH= 140,000 #* 0 & 140,000 #%
?E BEERR 47,100 % 0 % 47,100 #®
BRIZERS 89,000 #* 0 #% 89,000 #*
Z0Hh (BEMRE) 5,000 # 0 % 5,000 #*
R ME IR CHBR) 26,000 #% 3,040 #® 29,040 %
EREEER (A=, B 5,000 #* 1,100 #% 6,100 #%
Z DA (PCRRZE t4—. TBAERZE) 21,660 #% 530 & 22,190 #&
a &t 10,033,556 # 421,640 #% 10,455,196 &
® & $ 7,763,974 # 600,296 #& 8,364,270 &

MKNIOSTRY, [FEYRIEET,




